PN SR E R TSR (25512898 ~12BHHAE)
.- = Wat#R=E (1 Sv/h) N EEES
NO HEEE 1cm 50cm 1.0m KgrgE ﬁwxﬁ%ﬁfﬁ
1 A—4 BARI#AO 0.59 0.59 0.59 Bh
2l B—8 |[#HAMKEE 0.45 0.43 0.39 B
3] B—4 |m/miEfhHE 0.73 0.40 0.31 B
4 B—5 [HBARLE 0.38 0.38 0.37 Bh
5 B—5 |AthdhAREE 0.26 0.37 0.31 BEh
6] B—5 |ERGEM){HE 0.25 0.16 0.18 BEh O
7 B—5 |XK(ERD ik 0.15 0.16 0.16 BEh O
8] B—5 [FEH%ER 0.58 0.43 0.30 BEh
9] B—6 [THHALESE 0.51 0.40 0.37 D)
10 B—6 | THJIfHE 0.25 0.18 0.19 BEh
11 B—6 |[FHEMBERESRO@FO) A 0.16 0.12 0.12 ED) A
12| B—6 |[HRE(B=EHSA])hk 0.38 0.30 0.29 Bh
13 B—6 |gIfHE 0.57 0.41 0.37 BEh
14 B—6 |FHHABFE 0.53 0.36 0.33 BEh
15 B—6 |M/EAREERI 0.55 0.44 0.38 BEh
16] B—6 [XKIRZELHHE 0.29 0.26 0.19 BEh A
17/ B—7 |/NAEFHIE(UEXRAENETIT) 0.47 0.37 0.32 D)
18/ Cc—3 [FARMEAAO 0.29 0.32 0.30 Bh
19 C—3 %/ A=&Hih AOfHa 0.15 0.26 0.30 BEh A
200 C—4 |[#BOLU#A 0.52 0.38 0.29 BEh
21 C—4 | FHX(BFHMAEE ) 0.37 0.25 0.19 Bh
22| C—4 [BXEHHE 0.50 0.38 0.28 BEh
23] C—4 |PXITI—a9  (BNE) (1) 0.15 0.19 0.20 Bh O
24| C—5 [BEENERfE 0.44 0.37 0.28 BEh
25| C—5 |RLLEM{FHE 0.40 0.36 0.31 BEh
26| C—5 |X&1% 2.05 1.15 0.83 BEh
27l C—5 [TFEEEHNA 0.80 0.46 0.35 Bh
28] C—6_ |5OFELE 0.41 0.32 0.31 BEh
29] Cc—6 |EIALNEEER 0.37 0.34 0.31 =1
30 C—6 [fBILTIEME#ADO 1.43 0.82 0.48 B
31 C—6 [T ZEMihEKithisEEim 0.66 0.50 0.37 Bh
32[ Cc—6 |LATULAETFHI 0.57 0.35 0.31 Bh
33] C—6 [MEHIF{HE 0.48 0.35 0.32 BEh
34| C—6 |FEEFREEEHIGHZTH 0.60 0.45 0.39 BEh
35| C—6_ |IUTHREEAtE 2—(HEAH) 0.19 0.17 0.17 BEn O
36| C—6 [|[IUTESZERAEA 0.47 0.36 0.33 Bh
37l C—7 [N UNAVED 0.54 0.42 0.40 ED)
38] Cc—7 |[XKELABE(E) 0.66 0.47 0.43 Bh
39 c—7 [|/NEAEREZER 0.48 0.31 0.24 BEh
40| C—7 |[{EHFEEIEMFTIAZEH 0.36 0.40 0.34 BEh
41 c—7 |EBFEAREMTE 0.60 0.52 0.45 D)
42| Cc—7 pIUEER 0.64 0.51 0.45 D)
43| C—7 |[EhEhh (BiE15) 0.38 0.35 0.32 D)
44| C—7 | XKFEHBIFFHAE 0.69 0.42 0.36 Bh
45| C—8 [BBRGhME) 0.34 0.41 0.35 B
46| D—2 [J1—rryykCcCAO 0.33 0.54 0.56 Bh
471 D—8 [PXFE®E 1.31 0.98 0.73 B
48] D—8 |HEARfEFMA 0.30 0.44 0.34 Bh
49| D—4 |SBh(GER)fhHE 0.30 0.22 0.19 BEn A
500 D—4 |EB4EE/AHNK 0.32 0.38 0.33 /M
51 D—4 [EPALAESLE 0.18 0.20 0.19 B A
52 D—5 |FHhEElEhR 0.57 0.36 0.27 BEh
53] D—5 [EEE/INER (BFEIFHEID) 0.47 0.29 0.21 B O
54| D—5 |BENERSEH 0.20 0.21 0.21 B O
55| D—5 |IBEMRAEREER] 0.50 0.47 0.37 B
56| D—5 |[BEMBAQOfhA 0.29 0.38 0.34 Bh
5711 D—6_ |{fAORYILI SR 0.15 0.15 0.15 BEn O
58 D—6 BFH—TU0E 0.14 0.15 0.14 BEh O
5] D—6 |FirOE#A 0.38 0.29 0.28 Bh
60 D—6 Hit~s A+Fi& 0.51 0.45 0.33 Bh
61 D—6 |HEREISGEEN 0.70 0.54 0.42 BEh

*BFIUHEDZEILEDRE BT RIZEBHEDNESLYTT, ¥£308
NO 55 5| ﬁ&gqﬁ‘?%%(u SV/h) <~ LS %%55
HE BT 50cm 1.0m Rigiee @’ﬁ#jfﬁ
62| D—6 |FHEHEEFBIS 0.48 0.48 0.43 BEh
63] D—6 |EHW=—a—437  (E) 0.31 0.28 0.29 BEh A
64f D—7 |EBEAREFMA 0.43 0.39 0.34 BEh
65| D—7 |[FHEREBEHVIEG 0.16 0.19 0.16 BEh O
66] D—7 [/NEHEREH#RA 0.44 0.54 0.46 BEh
67 D—7 |2)lihiz 0.17 0.17 0.15 BEh O
68| D—7 |EUILEE400mIESTE 0.28 0.28 0.27 Bh
69| D—7 |FEHEEERAO 0.48 0.41 0.35 Bh
700 D—7 [EEEAE 0.36 0.34 0.29 BEh
71 D—7 |Yv<IAIFEHTE I 0.35 0.31 0.26 BEh
72| D—8 |FEIIFHEHIR) 0.21 0.24 0.20 BEh
73 E—2 |WFEME 0.61 0.49 0.40 BEh
74| E—2 |E&F B 0.79 0.40 0.33 Bh
75| E—3 |BR/EDihigE 0.41 0.36 0.38 BEh
76| E—4 |[BEAREEH 0.12 0.09 0.09 Bh O
77 E—4 IHEX /RN REEH] 0.50 0.40 0.34 BEh
78 E—5 |FRRALFHE 0.26 0.28 0.25 BEh
79 E—5 |8k 0.39 0.31 0.24 BEh
80 E—6 |—OXi#hR 0.63 0.45 0.39 BEh
81 E—6 | EEFER=FERMmTE 0.68 0.42 0.40 BEh
82 E—6  |/NEEHI~ s AH#A 0.85 0.69 0.51 BEh
83] E—6_ | KBOEYISUF 0.62 0.54 0.46 BEh
84| E—6 |[EEGEIHFAAA) 0.52 0.49 0.39 BEh
85 E—7 |FIRERESEM R 1.90 0.86 0.58 BEh
86| E—7 |EIMSRIEEAI 0.56 0.39 0.37 BEh
87 E—7 |ERAREEHI 0.23 0.20 0.17 BEh O
88 E—7 |ERARERHFIRME 0.43 0.34 0.26 BEh
89 F—4 [E/itfhk 0.47 0.45 0.36 Eh
90 F—4 |HREMREEL I—EIHISH 0.15 0.14 0.12 BEh O
91 F—4 |AESZABUtE2—dI] 0.48 0.31 0.29 BEh
92 F—5 [BAMA#A(R289H/5500m% LFHE) 0.45 0.29 0.29 Bh
93 F—5 |ZERARER 0.49 0.44 0.39 BEh
94 F—5 |®Bt A2—ZEAI 0.88 0.42 0.36 BEh
95 F—5 |ZIEPIGHRBIEYA/0h 0.36 0.32 0.26 Eh
%6 F—6 |&LEEKHADO 0.35 0.33 0.30 BEh
97 F—6  |FIEHISET FiR 0.50 0.34 0.29 BEh
98] F—6 |EFR/ \REHTRE 0.20 0.25 0.28 BEh
99| G—1 LFELF(FEE - XFEE) 0.18 0.18 0.17 BEh
100| G—3 |FAfFLEEHS 0.24 0.20 0.19| ZY (FE 1cm)
101 G—4 |&EKERERGEIGTTI) 0.34 0.35 0.29[ BB (FEE3cm)
12| G—4 |E3EHhE 0.12 0.13 0.15 BEh O
103] G—5 [HREXAHCCEIEHIF i 0.32 0.23 0.23 Eh
104] G—5 [EIFLEEEHhE 0.45 0.38 0.34 BEh
105 G—6 | KRESEEHEM 0.18 0.19 0.16 BEh
106] G—6 [BEHFTFE 0.28 0.24 0.21 Eh
107 H—3 A 3 4 R ithisk 0.25 0.20 0.18| =Y (F8E 3cm)
108] H—4 |[EECAFILEES 0.18 0.16 0.16]| N FEE5cm)
109] H-—5 |[EfRtELEEGEGEIIFTL) 0.25 0.24 0.22 Eh
1100 H—6 | KERIFEHDE 0.24 0.19 0.19 BEh
111 1—3 Faoo o G2) 0.27 0.20 0.19 Eh
112 1—4 BFERICYHRTILAORMAE 0.18 0.17 0.14 BEh
113 1—4 EEEACN) 0.08 0.11 0.09 BEh
114 1—4 HRORXrJHAO 0.16 0.16 0.16 BEh
115 1—4 A ELERRH L AR R A5 m CKE S ) 0.16 0.16 0.14| BN FEE3cm)
116 J—5 |FELEIHEIF 0.08 0.12 0.10[kEh (FEE5cm)
HZ; ﬁ—g ;i;ﬁfﬁbknﬁi% 0.15 0.13 0.13 £l
— T — — ) & —
119] K—3 [BEHAE4hHA — — 8.82 Egilggggi —
1200 K—3 |KEREHIF{h 0.20 0.13 0.14| 2Y(FEE3cm)
121 K—4 IHZ’E;:% — — 0.16 11/9 —
122 K—4 |i#E — 0.06 11/9 —
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